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. Where does the conversation toke place?
A. A doctor’s office
B. A restaurant
C. A hair salon
D. A bank
2. Which statement is correct?
A. The man arrived ten minutes late.
B. The man did not have an appointment.
C. The man changed his contact information.

D. The Woman asked the man to Wait until he was called.
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. Who lives in Chicago? 2. Which statement is correct?
A. Her older sister A. The Woman Was born in the United States.
B. Her older brother B. Only the wWoman’s parents live in Atlanta.
C. Her younger sister C. The Woman has one male sibling.

D. The Woman’s mother D. The Woman has an older sister.
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. Where Would you hear this announcement?

A. At an Asian grocery store

B. At a kimchi museum

C. At o kimchi factory

D. At o K—Pop store
2. Which statement is correct?

A. The event starts at 3 o'clock,

B. The first ten people Will receive o free gift.

C. The event Will be held on the 5™ floor.

D. You must reserve o spot the doy before the event.
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. Where does this conversation take place? 2. Why can’t the mon eat spicy food?

A. A Korean restouraont A. He has o cold.

B. A Chinese restaurant B. He hos o headache.

C. A Mexican restaurant C. He has o toothache.

D. A Jopanese restourant D. He has o stomachache.
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